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1| &8 KA ROFHBER 0 24 24 48 48 33.6 48 24
2| &8 & ROUGHA% 22 12 20 54 42 30.8 42 22
3|1l HER ROUGHA%Y 14 16 22 12 64 38 30.8 38 22
4|5 FEA AT =27 h7 3~ 10 8 18 16 52 34 25.2 34 18
5|kEF BE ROUGHA%Y 6 20 26 26 28 28 20
6|1ER% FHid ROUGHA% 18 4 31 27 25.2 27 18
7|6 B NTCH5J 0 8 14 11 33 25 19.6 25 14
8|1RE I ROUGHA%» 6 8 0 4 18 14 11.2 14 8
9| AT iE=} BIRFI57 1 2 6 8 17 14 11.2 14 8
10|FR& B ROUGHA% 3 0 0 10 13 13 14 14 10
11|%&58 5% ROUGHA%Y 1 0 10 0 11 11 14 14 10
12| A4 @G ROUGHA%Y 0 8 0 0 8 8 11.2 11.2 8
13|40AT B ROUGHA%Y 6 4 0 4 14 10 8.4 10 6
14[tEp RE ROUGHA%Y 0 2 6 4 12 10 8.4 10 6
15|3UT K ORION.TS 0 0 6 4 10 10 8.4 10 6
15FR A5 NTCH5J 0 0 6 4 10 10 8.4 10 6
17| & YEAED ROUGHA% 3 4 0 4 11 8 5.6 8 4
17|BaIEp ASH 0y—3> 3 4 0 4 11 8 5.6 8 4
19| & B ROUGHA% 0 4 0 4 8 8 5.6 8 4
20|11 12 BT = AT N7~ 0 4 0 0 4 4 5.6 5.6 4
20K A% ROUGHA%Y 0 4 0 0 4 4 5.6 5.6 4
20| #5658 TIP 0 4 0 0 4 4 5.6 5.6 4
23|34 EI2 0r—-vay 1 2 3 0 6 5 4.2 5 3
245Kk B— ROUGHA%Y 3 0 0 0 3 3 4.2 4.2 3
243t B8 FEFRRPFR 0 0 3 0 3 3 4.2 4.2 3
24[;A%F E2H ROUGHA%» 3 0 0 0 3 3 4.2 4.2 3
24 |4k RsE ROUGHA%Y 3 0 0 0 3 3 4.2 4.2 3
243kl S ROUGHA%Y 3 0 0 0 3 3 4.2 4.2 3
24| KR B DIRTZAAT )L 3 0 0 0 3 3 4.2 4.2 3
24|4% RAEB FFF=RI5T 0 0 3 0 3 3 4.2 4.2 3
24[/)CKR A& KD EFPFR 0 0 3 0 3 3 4.2 4.2 3
24|KE & KD EFPFR 0 0 3 0 3 3 4.2 4.2 3
24| K BX ROUGHA%Y 0 0 3 0 3 3 4.2 4.2 3
34|RE B BT = AT N7~ 0 2 0 0 2 2 2.8 2.8 2
34|ABR BE ROUGHA%» 0 2 0 0 2 2 2.8 2.8 2
3450 X# EARNEST TENNIS ACADEMY 0 2 0 0 2 2 2.8 2.8 2
34| hik 1A= BIRFI57 0 2 0 0 2 2 2.8 2.8 2
34(~1 BRUYY EIFFIr 0 2 0 0 2 2 2.8 2.8 2
34|37)1| EAER KD EFER 0 2 0 0 2 2 2.8 2.8 2
34|FE i #HF DIRTZAAT )L 0 2 0 0 2 2 2.8 2.8 2
34,10 A AP LBFESR 0 2 0 0 2 2 2.8 2.8 2
2|6 ES ROUGHA%» 1 0 0 0 1 1 1.4 1.4 1
42|1LA —5) BIDET.C 1 0 0 0 1 1 1.4 1.4 1
42| LLFZ F0FE ROUGHA% 1 0 0 0 1 1 1.4 1.4 1
42|28 B EHER 1 0 0 0 1 1 1.4 1.4 1




